cie)
L*¢,e=116(//100)~ L*e=116(Y/100)°~16 (v-=0gsse)or |
L ee= 16[(541/1050Y/1oo>+4/29] 16 L* e =116[(841/108)Y/100)+4/29]-1p
llumin. D6, ¥,,=90.0, ¥,=3.6 -50 llumin. DO, Y,,=90.0, Y,=3.6 r-50

jame Range X NyTh Aa b, o A B, Cuhal Y, Lge Lg Ly Ly, |Name Range X Ny Az b g e Unon
R, 567_775 49.44 3271 356 0576 0381596 4391253 -0034 0683 406 256 558 27 181135 145 14|R 5707755358 3433 271 0501 0378598 461127 -0.031 0681 525 256 58525 19 152 155 1
v, 493775 6304 76553 8.7 0.424 0515570 4630.61 -0.036 0.311 -10 59.6 596 91 4.25 40.1 410 34|V. 496 775 67.74 7635 598 0451 0508573 4680.67 -0.031 0.299 25 57.0 57.0 87 4.24 400 40.9 3
G, 493 567 16.67 47.05 8.74 023 0649535 5350.184 ~0.059 0519 -50.7 339 610 146 261 242 249 24)G. 496 570 17.28 45.26 595 0252 0.66 538 5380215 -0.052 0.521 ~500 313 59.0 147 251 230 238 2:

. 380_567 30.61 51.52 86,16 0.179 0302489 5960.23 -0.547 0.433 -49.6 -25.6 55.8 207 2.86 26.9 27.7 24]C. 380 570 27.64 499 66.78 0.191 0.345491 5980.235 ~0.535 0.469 -525 -25.6 585 205 2.77 260 26.7 2
B) 380 4931701 7.7 82.950.158 0.071463 5700.671 -3.444 3096 10 -59.6 59.6 271 042 -1631.61677.d|8. 380_496 1348 7.98 635 0.158 0.092468 5730526 -3223 2.896 -2.5 -57.0 57.0 267 0.43 -162D5155 4
M, 567_493 6338 37.18 82.98 0.345 0.20253505351.161 -0.714 0.656 50.7 -33.9 610 326 2.06 17.4 18.0 14M’ 570 496 63.94 38.97 6354 0.384 0.234538c538 117 -0.652 0.606 500 -313 50.0 327 2.16 18.7 19.4 1

XYZ,=95.04,100.0, 108.89 —74 Parameter: L * XYZ,=96.42,100.0, 82.49 —74 Parameter: L =L * 574
A,=256,-a,) Y | Ligg &name Lao Lroe=50," A= 256,-3,) Y | Lo &name fs0 - L cie=50,
B,=250,-b,)Y = B,=25p,-b,)Y 1 Y,=Y/18, !
62 %D[(X-X)/)ﬂ =3[ (x=x.) /) 7896 !
b,=b,B.[2/y | 1
- . \

| AIRB, 2
B: 73 82177 1 |
6 Ostwaldcolours (o) C 6 Ostwaldcolours (0),.C,5 J=const

colour space CAB; colour space CAB? 1 :
1

w380 775 8553 90.0 980 0.312 0320 90% 0,616 -0.348 001 00 00 00 0 499 459 469 40J{W]380 7758678 90.0 74.240.345 0.358 2% 0657 -0.329 001 00 00 00 0 499 459 46.9 40.
N;380 775342 36 392 03120329 3% 0616 -0348 001 00 00 00 180 0.19 -27-80:a740]|N 380 7753.47 36 296 03450358 3% 0657 -0329 001 00 00 00 181 0.19 2702740,
U 380775 17.1 180 196 0312 0329 18% 0616 -0.348 0.01 00 00 00 184 10 -04 00 00|[u] 3807751735 180 14840345 0.358 18% 0657 -0329 0.01 0.0 00 00 186 10 -0.4 00 0.
feel0-5a fee10-6a
XYZ,=100.93, 100.0 , 64.68 - : XYZ,=109.84, 99.99 , 35.58 = :

Z, 74 Parameter: LCIE L*CIE_50 Z, 74 Parameter: L CIE L*CIE_SO

I L*cg &name
! Y =Y/18,
77Gg

A,=256,-3,)Y I L*cg &name
1 Y=Vis,
7865

=1, byy=-0,4

X —0110 B =2,500
~IAZBA

6 Ostwa\dcolours (0).Cyp,

colour space CAB% L* C‘E)

L* e =116(1/100)°-16 (v-=0gsseror |

L*e=116[(841/108)Y/100)+4/29]-16 46

lllumin. A0O, Y,,=90.0, Y,=3.6 -50

1, by,
>< 01108 -1300
12
Coae[A24B]
6 Ostwaldcolours (0), C
colour space C,g 3! L*ce.
P
L*,e=116(r/100)-16 (v> 08856)0T |
o -
L* e =116[(841/108)Y/100)+4/29]-16
lllumin. P40, ¥,,=80.0, Y,=3.6
ame Range x ' ¥ My b, B, Coalhas Y, Leg Loy Ly Uy [Name Range x ¥ 2750 Ny g o, & A, By oy, Y, Log Ly Ly, Ly
R, 573_775 57.85 3523 213 0607 0:37 600 4331344 -0.031 0697 552 268 614 25 195159 165 1 [, s7o.775 6567 366 115 0ce 0354605 4991470 0.032 0.727 597 286 666 26 208 170" 17.7 1
498775 73.71 77.38 525 0471 0.494576 468073 -0035 030125 562 563 87 429 40.4 414 3|V° 504 7758479 77.67 296 0.511 047 581 4740.854 0,038 0318 5.1 618 620 85 432 40.7 416 3
G0 4067573 1947 4533 521 0.274 0.65 40 3900252 D0S 084 527 303 513 140 752 730 238 7]|CT S04 e7D 7267 4447 20 023 0.8%SHT SHTEINT 00G 057 545321 823 140 24 B 7a2 7
c: 380 573 27.17 49.0 52.36 0.211 0.381493 6000.265 -0.555 0,501 ~55.2 268 61.4 205 2.72 254 26.2 2{|C, 380 579 26.86 47.55 28.79 0.26 0.46 499 6050326 -0.605 0561 -59.7 -29.6 66.6 206 2.64 245 252 2
7 380_498 11.31 6.85 49.24 0.167 0101468 5760.568 3733 3.4 -25 -58.2 58.3 267 0.38 -1628.01810.d[B; 380504 7.74 636 27.0 0.188 0154474 5810.505 -4.241 3,898 -5.1 -6L8 62.0 265 0.35 -1075.6108.1
M 573 498 65.80 38.84 49.27 0427 0.2525400540126 ~0.659 0631 52.7 ~31.3 613 320 2.15 186 103 14|M, 579 504 69.85 39.81 27.03051 0.291547c547 1376 ~0.679 0.636 545 -32.1 633 329 221 19.3 200 1
W 380 775 90.63 900 58220379 0.376 90% 0.717 -0.336 0.01 0.0 00 00 0 498 459 469 40J|W’380_775 98.86 80.99 32.020.447 0.407 90% 0.628 -0.355 0.01 0.0 00 00 0 4.99 459 46.9 40
N 380775363 36 232 0379 0376 3% 0717 -0.33 001 00 00 00 180 0.19 -27@0-a7-80|N, 380775395 350 128 0447 0.407 % 0828 -0.355 001 00 00 0O 181 0.19 -2780-A7-40.
U, 380_775 1816 180 11640379 0376 18% 0717 -0.33 001 0.0 00 00 169 10 -0.4 00 0.0||u] 38077519.77 1799 6.4 0447 0.407 18% 0828 -0355 001 00 00 00 180 10 -04 00 0|

feel0-7a fee10-8a
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